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(a) (b) 100

#-a>01)—k 8 8 4 4 50.0
h A% - B 0 — — — —
i - &R 3 3 1 2 333
XA 1 1 0 1 0.0
RE-FE 0 - - - -
By 1 1 1 0 100.0
BI-RRIAVE 6 5 2 3 40.0
AVTFFUR 4 4 4 0 100.0
7P 1 1 1 0 100.0
IR 1 1 0 1 0.0
H 25 24 13 11 54.2
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(a) (N) (A) (AN) (b) 100
-aro)—k 13 5 2 2 3 400
Hh & - ELRE 7 1 1 1 0 100.0
i - &b h 17 2 1 1 1 1 1 50.0
prg:] 10 6 6 1 1 6 0 100.0
RE - EHE 1 0 — - — —
Bl 5 0 — — — —
BI-IRIAUE 14 7 4 4 3 57.1
ATFIR 13 2 2 2 0 100.0
;P 7 2 2 1 1 2 0 100.0
RiE 4 3 3 1 2 1 66.7
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#-a>y)—k 6 5 4 1 80.0
A% - B 1 1 1 0 100.0
AN - 10 10 8 2 80.0
mE-EF 4 4 4 0 100.0
#Rh - i 1 1 1 0 100.0
KA 13 13 12 1 92.3
FoRIL-HTF 9 9 5 4 55.6
B 13 13 8 5 61.5
RE-AE 0 — — — —
THRTAU 11 11 10 1 90.9
i ¢ 3 3 3 0 100.0
REB-THRIL¥X— 3 3 2 1 66.7
=5 74 73 58 15 79.5
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a) (b) 100
M-aro)—k 32 9 6 15 66.7
Hh % - ELRE 9 2 2 5 100.0
i - &b h 13 2 2 11 100.0
KA 16 7 5 7 71.4
SRE - EHE 3 1 1 2 100.0
B 11 2 0 2 0.0
BI-IRIAUE 59 20 12 16 60.0
ATFIR 22 6 5 8 83.3
;P 12 3 3 3 100.0
RiE 9 3 3 1 100.0
&t 186 55 39 70 70.9
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a) (b) 100
a1 —+ 4 4 4 0 100.0
A% - B 2 2 2 0 100.0
AL - R 8 8 7 1 875
BE-EE 4 4 4 0 100.0
#Rh - i 1 1 1 0 100.0
ZiE 4 4 4 0 100.0
FoRIL-HTF 0 — — — —
GES 6 6 3 3 50.0
AE-HE 1 0 0 0 0.0
IRT AR 4 4 4 0 100.0
;P 5 5 4 1 80.0
REB-ITHRIL¥X— 2 2 1 1 50.0
a5t 41 40 34 6 85.0
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